 EQ \r(5-x)-\r(7-x)+\r(2x-15)=2 
Отметим ОДЗ.

 EQ \b\lc\{(\a\al\hs3\vs3(2x-15≥0;7-x≥0;5-x≥0;\r(5-x)-\r(7-x)+\r(2x-15)=2)) 
Преобразуем неравенство.

 EQ \b\lc\{(\a\al\hs3\vs3(x≥\f(15;2);7-x≥0;5-x≥0;\r(5-x)-\r(7-x)+\r(2x-15)=2)) 
Преобразуем неравенство.

 EQ 7-x≥0 
Следующее неравенство равносильно предыдущему.

 EQ -x≥-7 
Изменим знаки выражений на противоположные.

 EQ x≤7 
Преобразуем неравенство.

 EQ 5-x≥0 
Следующее неравенство равносильно предыдущему.

 EQ -x≥-5 
Изменим знаки выражений на противоположные.

 EQ x≤5 
 EQ \b\lc\{(\a\al\hs3\vs3(x≥\f(15;2);x≤7;x≤5;\r(5-x)-\r(7-x)+\r(2x-15)=2)) 
нет решений

